

EXTENDING THE APPLICABILITY OF THE LAGRANGE MULTIPLIERS METHOD

A Senior Honors Thesis
In Mathematics
State University of New York
College at Brockport

Thesis Director: Dr. Gabriel Prajitura

Ashley Case
May 2018

Copyright © Ashley Case, 2017
All rights reserved

Acknowledgments

First of all, I would like to express my deep and sincere gratitude to my thesis advisor Dr. Gabriel Prajitura for guiding me through my first undergraduate research experience. His vast knowledge and accommodating ways greatly influenced the final product you see here today. Through weekly meetings, hasty emails, and careful direction, this project was remarkably completed. The continuous encouragement and support through each roadblock and problem that occurred were of great importance as I completed my thesis. This was truly a worthwhile learning experience on many levels.

I would like to thank my academic advisor, Rebecca Smith, for making my switch to a math major possible. Her help has been crucial in getting me to the point where I was able to work on this project. I would also like to thank her with her efforts to help me graduate on time, coordinating my class schedules each semester to get me to this point of completion.

The support of the Honors Program here at The College at Brockport, State University of New York was tremendous and greatly appreciated as I continued to complete my Senior Honors Thesis.

Special thanks go to my family and friends who have understood the vast amount of time I have spent working on this project. Thank you for your tolerance during the completion of this thesis and for always believing in me.

Abstract

In this work we studied the use of the Lagrange Multipliers Method. We proved that substitutions can result in the ability to use this method when the method had previously failed. We also look at situations where this is not the case, and the method fails to maximize or minimize the function. In such cases, we will discuss what to do from there.

Contents

Chapter 1

The Lagrange Multipliers Method

1.1 Introduction

1.1. Definition. *The Lagrange Multipliers method is a common method of optimization. This method is used to find the maxima and minima of a function subject to a constraint. The constraint will serve as the boundary of the region we are examining.*

1.2. Definition. *The Lagrange Function can be defined as,*

$$L(x, y) = f(x, y) - \lambda \times g(x, y)$$

where λ is the variable known as the Lagrange Multiplier within the function.

1.2 History

The Lagrange Multipliers method is named after Joseph-Louis Lagrange. The original function that we just looked at is the method with one constraint. However, this method is very versatile and can be used for multiple constraints as well.

Chapter 2

Extending the Applicability of the Lagrange Multipliers Method

2.1 Extending the Method Using Substitution

2.1.1 Example 1

Let a, b, c be nonnegative real numbers such that $a^2 + b^2 + c^2 = 1$. Prove that

$$\sqrt{2} \leq \sqrt{\frac{a+b}{2}} + \sqrt{\frac{b+c}{2}} + \sqrt{\frac{c+a}{2}} \leq \sqrt[4]{27}$$

When do equalities occur?

The inequality is equivalent to

$$2 \leq \sqrt{a+b} + \sqrt{b+c} + \sqrt{c+a} \leq \sqrt{2}\sqrt[4]{27}$$

Since a, b, c are nonnegative numbers we can use the substitutions $a = x^2$, $b = y^2$ and $c = z^2$, in attempt to make this a Lagrange Multipliers problem. Then we have x, y, z are real numbers subject to

$$x^4 + y^4 + z^4 = 1.$$

We will use Lagrange multipliers to determine the maximum and the minimum of the function

$$f(x, y, z) = \sqrt{x^2 + y^2} + \sqrt{y^2 + z^2} + \sqrt{z^2 + x^2}$$

subject to

$$x^4 + y^4 + z^4 = 1.$$

The multiplier system is

$$\begin{cases} \frac{x}{\sqrt{x^2+y^2}} + \frac{x}{\sqrt{z^2+x^2}} = 4\lambda x^3 \\ \frac{y}{\sqrt{x^2+y^2}} + \frac{y}{\sqrt{y^2+z^2}} = 4\lambda y^3 \\ \frac{z}{\sqrt{y^2+z^2}} + \frac{z}{\sqrt{z^2+x^2}} = 4\lambda z^3 \\ x^4 + y^4 + z^4 = 1 \end{cases}$$

We will consider four cases:

1. All variables are equal to 0.

Since

$$x^4 + y^4 + z^4 = 1,$$

this case is not possible.

2. Only two of the variables are equal to 0.

Because of the symmetry of the system it suffices to consider only the case $x = y = 0$.

Then $z^4 = 1$ and thus $z = \pm 1$.

This gives us the points $(0, 0, \pm 1)$, and, by symmetry, $(0, \pm 1, 0)$ and $(\pm 1, 0, 0)$.

3. Only one of the variables equals 0

Because of the symmetry of the system it suffices to consider only the case $x = 0$.

The system becomes

$$\begin{cases} \frac{y}{\sqrt{y^2}} + \frac{y}{\sqrt{y^2+z^2}} = 4\lambda y^3 \\ \frac{z}{\sqrt{y^2+z^2}} + \frac{z}{\sqrt{z^2}} = 4\lambda z^3 \\ y^4 + z^4 = 1 \end{cases}$$

or

$$\begin{cases} \frac{1}{|y|} + \frac{1}{\sqrt{y^2+z^2}} = 4\lambda y^2 \\ \frac{1}{\sqrt{y^2+z^2}} + \frac{1}{|z|} = 4\lambda z^2 \\ y^4 + z^4 = 1 \end{cases}$$

It is clear from the first equation that $\lambda > 0$.

Subtracting the first two equations we get

$$\frac{1}{|y|} - \frac{1}{|z|} = 4\lambda(y^2 - z^2)$$

If $|y| > |z|$, the left hand side is negative while the right hand side is positive.
If $|y| < |z|$ the lefthand side is positive while the right hand side is negative.

Therefore $|y| = |z|$ and thus $y^4 = z^4$. This implies that

$$2y^4 = 1$$

and so

$$y = \pm \frac{1}{\sqrt[4]{2}}$$

We got the points $(0, \pm \frac{1}{\sqrt[4]{2}}, \pm \frac{1}{\sqrt[4]{2}})$ and, by symmetry, $(\pm \frac{1}{\sqrt[4]{2}}, 0, \pm \frac{1}{\sqrt[4]{2}})$ and $(\pm \frac{1}{\sqrt[4]{2}}, \pm \frac{1}{\sqrt[4]{2}}, 0)$.

4. None of the variables is 0.

The system is equivalent with

$$\begin{cases} \frac{1}{\sqrt{x^2+y^2}} + \frac{1}{\sqrt{z^2+x^2}} = 4\lambda x^2 \\ \frac{1}{\sqrt{x^2+y^2}} + \frac{1}{\sqrt{y^2+z^2}} = 4\lambda y^2 \\ \frac{1}{\sqrt{y^2+z^2}} + \frac{1}{\sqrt{z^2+x^2}} = 4\lambda z^2 \\ x^4 + y^4 + z^4 = 1 \end{cases}$$

Again λ must be a positive number.

Subtracting the first two equations, we get

$$\frac{1}{\sqrt{z^2+x^2}} - \frac{1}{\sqrt{y^2+z^2}} = 4\lambda(x^2 - y^2)$$

If $x^2 > y^2$ then the left hand side is negative while the right hand side is positive. If $x^2 < y^2$ then the left hand side is positive while the right hand side is negative. Therefore $x^2 = y^2$.

In the same way, subtracting the third equation from the second we get that $y^2 = z^2$. Thus

$$3x^4 = 1$$

and $x = \pm \frac{1}{\sqrt[4]{3}}$. This gives us the points $(\pm \frac{1}{\sqrt[4]{3}}, \pm \frac{1}{\sqrt[4]{3}}, \pm \frac{1}{\sqrt[4]{3}})$.

For all points in case 2 the value of the function is 2. For all points in case 3 the value of the function is $\sqrt[4]{8} + \sqrt[4]{2}$. For all the points in case 4 the value of the function is $\sqrt{2}\sqrt[4]{27}$.

Comparing the three values we conclude that the first is the minimum and the last is the maximum of the function within the constraints.

In terms of a, b, c , the minimum is attained when two of the variables are 0 and the third equals 1 while the maximum attained when all variables are equal and equal to $\frac{1}{\sqrt{3}}$.

2.1.2 Example 2

Let a, b, c be positive real numbers such that $a + b + c = 3$. Prove that

$$a\sqrt{a+3} + b\sqrt{b+3} + c\sqrt{c+3} \geq 6$$

Since a, b, c are nonnegative numbers we can use the substitutions $a = x^2$, $b = y^2$ and $c = z^2$, where x, y, z are real numbers subject to

$$x^2 + y^2 + z^2 = 3.$$

We will use Lagrange multipliers to determine the minimum of the function

$$f(x, y, z) = x^2\sqrt{x^2+3} + y^2\sqrt{y^2+3} + z^2\sqrt{z^2+3}$$

subject to

$$x^2 + y^2 + z^2 = 3.$$

We will also find the maximum.

The multiplier system is

$$\begin{cases} 2x\sqrt{x^2+3} + \frac{x^3}{\sqrt{x^2+3}} = 2\lambda x \\ 2y\sqrt{y^2+3} + \frac{y^3}{\sqrt{y^2+3}} = 2\lambda y \\ 2z\sqrt{z^2+3} + \frac{z^3}{\sqrt{z^2+3}} = 2\lambda z \\ x^2 + y^2 + z^2 = 3 \end{cases}$$

We will consider four cases

1. All variables are equal to 0.

Since

$$x^2 + y^2 + z^2 = 3,$$

this case is not possible.

2. Only two of the variables are equal to 0.

Because of the symmetry of the system it suffices to consider only the case $x = y = 0$.

Then $z^2 = 3$ and thus $z = \pm\sqrt{3}$.

This gives us the points $(0, 0, \pm\sqrt{3})$, and, by symmetry, $(0, \pm\sqrt{3}, 0)$ and $(\pm\sqrt{3}, 0, 0)$.

3. Only one of the variables equals 0

Because of the symmetry of the system it suffices to consider only the case $x = 0$.

The system becomes

$$\begin{cases} 2\sqrt{y^2+3} + \frac{y^2}{\sqrt{y^2+3}} = 2\lambda \\ 2\sqrt{z^2+3} + \frac{z^2}{\sqrt{z^2+3}} = 2\lambda \\ y^2 + z^2 = 3 \end{cases}$$

Let

$$g(y) = 2\sqrt{y^2 + 3} + \frac{y^2}{\sqrt{y^2 + 3}}$$

Then

$$g'(y) = \frac{2y}{\sqrt{y^2 + 3}} + \frac{y^3 + 6y}{\sqrt{y^2 + 3}^3} > 0.$$

Therefore the function g is strictly increasing and thus one to one.

Since $g(y) = gzy$ we conclude that

$$y = z = \pm\sqrt{32}.$$

We got the points $(0, \pm\sqrt{32}, \pm\sqrt{32})$ and, by symmetry, $(\pm\sqrt{32}, 0, \pm\sqrt{32})$ and $(\pm\sqrt{32}, \pm\sqrt{32}, 0)$.

4. None of the variables is 0.

The system is equivalent to

$$\begin{cases} 2\sqrt{x^2 + 3} + \frac{x^2}{\sqrt{x^2 + 3}} = 2\lambda \\ 2\sqrt{y^2 + 3} + \frac{y^2}{\sqrt{y^2 + 3}} = 2\lambda \\ 2\sqrt{z^2 + 3} + \frac{z^2}{\sqrt{z^2 + 3}} = 2\lambda \\ x^2 + y^2 + z^2 = 3 \end{cases}$$

This time we have $g(x) = g(y) = g(z) = \pm 1$.

This gives us the points $(\pm 1, \pm 1, \pm 1)$.

For all points in case 2 the value of the function is $3\sqrt{6}$. For all points in case 3 the value of the function is $3\sqrt{2}$. For all the points in case 4 the value of the function is 6.

Comparing the three values we conclude that the minimum is 6 and the maximum is $3\sqrt{6}$.

2.1.3 Example 3

Let a and b be non negative real numbers such that $a + b = 1$. Prove that

$$\sqrt{289256} \leq (1 + a^4)(1 + b^4) \leq 2.$$

Since a, b are nonnegative numbers we can use the substitutions $a = x^2$ and $b = y^2$ where x, y are real numbers subject to

$$x^2 + y^2 = 1.$$

We will use Lagrange multipliers to determine the minimum and the maximum of the function

$$f(x, y) = (1 + x^8)(1 + y^8) = 1 + x^8 + y^8 + x^8y^8$$

subject to

$$x^2 + y^2 = 1.$$

The multiplier system is

$$\begin{cases} 8x^7 + 8x^7y^8 = 2\lambda x \\ 8y^7 + 8x^8y^7 = 2\lambda y \\ x^2 + y^2 = 1 \end{cases}$$

We will consider three cases

1. All variables are equal to 0.

Since

$$x^2 + y^2 = 1,$$

this case is not possible.

2. Only one of the variables is equal to 0.

Because of the symmetry of the system it suffices to consider only the case $x = 0$.

Then $y^2 = 1$ and thus $y = \pm 1$.

This gives us the points $(0, \pm 1)$, and, by symmetry, $(\pm 1, 0)$.

3. None of the variables is 0.

The system is equivalent to

$$\begin{cases} 4x^6 + 4x^6y^8 = \lambda \\ 4y^6 + 4x^8y^6 = \lambda \\ x^2 + y^2 = 1 \end{cases}$$

If we subtract the first 2 equations we get

$$4(x^6 - y^6) + 4x^6y^6(y^2 - x^2) = 0 \iff (x^2 - y^2)(x^4 + x^2y^2 + y^4) - (x^2 - y^2)x^6y^6 = 0$$

$$\iff (x^2 - y^2)(x^4 + x^2y^2 + y^4 - x^6y^6) = 0.$$

The equation $x^2 - y^2 = 0$ implies $|x| = |y|$ and since $x^2 + y^2 = 1$ we get the solutions $(\pm 1/\sqrt{2}, \pm 1/\sqrt{2})$.

$$\begin{aligned} x^4 + x^2y^2 + y^4 - x^6y^6 = 0 &\iff (x^2 + y^2)^2 - x^2y^2 - x^6y^6 = 0 \\ &\iff 1 = x^2y^2 + x^6y^6. \end{aligned}$$

We will show that this equation does not have solutions.

By AM - GM inequality,

$$|x \cdot y| \leq \frac{x^2 + y^2}{2} = \frac{1}{2}.$$

Therefore

$$x^2y^2 \leq \frac{1}{4}$$

and

$$x^6y^6 \leq \frac{1}{64}.$$

This implies that

$$x^2y^2 + x^6y^6 \leq \frac{17}{64} < 1.$$

For all points in case 2 the value of the function is 2. For all points in case 3 the value of the function is $\frac{289}{256}$.

Comparing the two values we conclude that the minimum is $\frac{289}{256}$ and the maximum is 2.

2.1.4 Example 4

Let a, b, c be positive real numbers such that $a^2 + b^2 + c^2 + abc = 4$ and let k be a nonnegative real number. Prove that

$$a + b + c + \sqrt{k \left(k - 1 + \frac{a^2 + b^2 + c^2}{3} \right)} \leq k + 3.$$

Let $a + b + c = s$ and $abc = p$.

The inequality is equivalent to

$$\begin{aligned} \sqrt{k \left(k - 1 + \frac{4 - p}{3} \right)} &\leq k + 3 - s \\ \iff \sqrt{k \left(k + \frac{1 - p}{3} \right)} &\leq k + 3 - s \end{aligned}$$

Since

$$s^2 \leq 2(a^2 + b^2 + c^2) < 8 \iff s < 2\sqrt{2} < 3,$$

the right hand side of the inequality is positive so

$$\begin{aligned} \iff k \left(k + \frac{1 - p}{3} \right) &\leq (k + 3 - s)^2 \\ \iff k^2 + \frac{1 - p}{3}k &\leq k^2 + 2(3 - s)k + (3 - s)^2 \\ \iff 0 \leq k \left(6 - 2s - \frac{1 - p}{3} \right) &+ (3 - s)^2 \end{aligned}$$

If

$$6 - 2s - \frac{1 - p}{3} \geq 0$$

the previous inequality is true.

We will show that this is always the case

$$\iff 18 - 6s - 1 + p \geq 0 \iff 17 - 6s + p \geq 0$$

which is true because $p > 0$ and $6s \leq 12\sqrt{2} < 17$.

2.1.5 Example 5

Let x, y, z be non negative real numbers such that $x + y + z = 1$ and let $1 \leq \lambda \leq \sqrt{3}$. Determine the minimum and the maximum of the function

$$f(x, y, z) = \lambda(xy + yz + zx) + \sqrt{x^2 + y^2 + z^2}$$

in terms of λ .

Our goal is to find the maximum and the minimum of

$$f(x, y, z) = \lambda(xy + yz + zx) + \sqrt{x^2 + y^2 + z^2}$$

subject to

$$x + y + z = 1$$

with $x, y, z \geq 0$.

The Lagrange Multiplier system is

$$\begin{cases} \lambda(y + z) + \frac{x}{\sqrt{x^2 + y^2 + z^2}} = \alpha \\ \lambda(x + z) + \frac{y}{\sqrt{x^2 + y^2 + z^2}} = \alpha \\ \lambda(x + y) + \frac{z}{\sqrt{x^2 + y^2 + z^2}} = \alpha \end{cases}$$

Subtracting the first two equations we get

$$\lambda(y - x) + \frac{x - y}{\sqrt{x^2 + y^2 + z^2}} = 0 \iff (y - x) \left(\lambda - \frac{1}{\sqrt{x^2 + y^2 + z^2}} \right) = 0$$

and, in the same way, subtracting the last two equations, we get

$$(z - y) \left(\lambda - \frac{1}{\sqrt{x^2 + y^2 + z^2}} \right) = 0$$

We will consider two cases:

I

$$\frac{1}{\sqrt{x^2 + y^2 + z^2}} \neq \lambda$$

Then $y - x = z - y = 0$ which implies that $x = y = z = 1/3$. The value of the function is, in this case,

$$\frac{\lambda}{3} + \frac{1}{\sqrt{3}}.$$

II

$$\frac{1}{\sqrt{x^2 + y^2 + z^2}} = \lambda$$

In this case the function becomes

$$f(x, y, z) = \lambda(xy + yz + zx) + \frac{1}{\lambda}$$

Since

$$xy + yz + zx = \frac{1}{2}((x + y + z)^2 - (x^2 + y^2 + z^2)) = \frac{1}{2}(1 - \frac{1}{\lambda^2})$$

we get that the value of the function is

$$\frac{\lambda}{2}(1 - \frac{1}{\lambda^2}) + \frac{1}{\lambda} = \frac{1}{2}(\lambda + \frac{1}{\lambda})$$

We will show that

$$\frac{1}{2}(\lambda + \frac{1}{\lambda}) \geq \frac{\lambda}{3} + \frac{1}{\sqrt{3}}$$

which will imply that the first is the maximum and the second is the minimum.

The inequality

$$\iff \frac{\lambda}{6} + \frac{1}{2\lambda} \geq \frac{1}{\sqrt{3}}$$

which follows from the AM - GM inequality.

Chapter 3

When the Lagrange Multipliers Method Fails

3.1 When the method fails due to a sharp domain

3.1.1 Example 1

We will consider the problem; The function $f : \mathbb{R} \rightarrow \mathbb{R}$

$$f(x) = |x|$$

has a minimum at $x = 0$. However, the derivative of f is never equal to 0. To find it we need to look at the points where the derivative does not exist. To find it we need to look at the points where the derivative does not exist.

3.1.2 Example 2

Something similar can happen in the case of functions of several variables. Except that in this case we need to pay attention not only to the function itself but to the constraint function as well. Let us consider the following;

Find the maximum and the minimum of the function

$$f(x, y) = x$$

subject to

$$x^4 - x^3 + y^2 = 0.$$

Therefore,

$$g(x, y) = x^4 - x^3 + y^2$$

Here we have;

$$f_x = 1 \quad \text{and} \quad f_y = 0$$

and

$$g_x = 4x^3 - 3x^2 \quad \text{and} \quad g_y = 2y$$

Therefore the multiplier system is;

$$\begin{cases} 1 = \lambda(4x^3 - 3x^2) \\ 0 = \lambda(2y) \\ x^4 - x^3 + y^2 = 0 \end{cases}$$

The first equation implies that $\lambda \neq 0$ and so, from the second equation we get $y = 0$. If we plug in the third equation we get

$$x^4 - x^3 = 0$$

$$\iff x^3(x - 1) = 0$$

so $x = 0$ or $x = 1$.

The solution $x = 0$ turns the first equation into $1 = 0$, so we conclude that $x = 1$ is the only solution. It turns out this is the maximum of the function.

However, since the constraint

$$y^2 = x^4 - x^3$$

is a compact set the function f has both a maximum and a minimum and the method failed to identify one of them.

Notice that both $f(x, y) = x$ and $g(x, y) = x^4 - x^3 + y^2$ have partial derivatives everywhere, so the minimum does not occur at a point where the derivative does not exist, as in the one dimensional case.

Here the graph of

$$x^4 - x^3 + y^2 = 0$$

has a sharp point at $x = 0$, which is the source of the failure.